e 2 -
52 k] m 3 —
N N 7 s
97./ t\n : < /égd 4 \\
&0 IR 3 3 O
SILL 50 . 285 ¥
35 Y =25 ) AN m
. 1 B2 6. ~ z
o S N y et
54'Q kK o % m2 ) k150 iy ¢ K N R o
8 g o 429 9 0 3 - o
N 2 1 . 2&5-“ NY
; b , 288756 25 20 m 7 fet. 1
555{4; 2%(8 %oron 91 _255'6 Bp 2 472 © 2 25 y
ks o , T— g % ;
3 m 2/? 283f 2217 > 3 3 ez 286" N \
45 m 280 286 1 m @ 92 9 N ) >
256/465 t ’ Q 5'24 3 - o AN s 6 f-zg
784 28 4 mZ S 7895 %52 o 2859 o 28 ¢
7 3/6 2 2l 7k ¢
43 $ PN 48 57 [ ;
3 9 ¢ "
P L o 287 %\x’\- 286
8 ()
35-9 285 /
B Ll - 0 : 74 7T 465 7]
2 285 ; R 9 \ mj % @6 1
1 P 3 1 .
m ] ﬁf K 9807k 86 786° T 6 9 14 ?/6/ SN
8 - 156 3 i 256- = ks 20 7 256 0 4 255. >
255.0 9 2 920 1) \j = 59 } 285 '62 3 2
% k 45 ' m? {%’K 74 7 2859 2 ' 2 % 266° m
% o) ﬁg m = K K 285 6.2 ; ok \%ﬁm 256
L 2 IR s s = —] y y
L\ 2 S ‘ n? § 157 5
.205 gA20 jP: 7 853 1 ! 8 mZiﬁﬂ 20761
%, 7 . 8% N 2 T | N
S | «
mx $ =R : 59 | = t m’ N
R s = e t
7 — LA N n : S
. e — ’ /3 N R - v ) K !\Nl79 4 S :
> t : . 7 N ; 0 : g 0
r TN — £ N % ot Lot | ] { ’ ¢ 283655-50 2857 643 G
3 . : : 5559 Esg 07 s [l ] 5475& 8 | 25476 L } it 8 R 7% gp 3 ? 7
< 285.77 . R Z 2 54,0 cA /7{84/70 2864 1 kQ b 6 ‘o 2 . 36 2 Y <25
3 Kwiatowos : 3 7 2t a6 g B’ - / 7998250 N 559 . s
- = 5759 o 3 /mb. X : *IV ﬂ B | '725550 28506 § o n
2 7 E . \/ L N N
546055,5385,5 76565 _— AT T S . 28552, < o AT50 il @?7 e , £ 5
W ot LAl T AT R Porr 507 © " e /2 1% ‘ ~
gA6S || 80 y — l W : : ; W_/ —_op . 1 || s E ‘
g 554 ' 45 7 7 pt: DLS 286§f 26564 25%.44 254 5 / i ’ chmb. ! /j NN
¢ 7Ry 854\ iy K D =2 N et = S [ / 1 25674 sot517 4 5y
[t - 214/f ‘ 7 k' 20 3 -
b. 3 42&423 ar E 9 4202 K nga.' 156186 . e | 40
\ . 2829 7 §4 43 t 1.29 407 —= \ 255.0298 . 3 25@ | . 552, | h
t 7 g ' L > ' zé’“'“”“wm 5 284.97 %35
mZ | 85 50 e o z
5. E n? LV ; - 2 6 -ay28010 7/% 3 o~
— : oA 55/5 " al ! i F958D- v S| 3
: 4 Y /70" : . 14 ~N
IR R 3 s e = o #3
X ‘ 3 O © Q S | Kkp- R wn <
° E g | 1 54.74 46 é 40 = : 56'8 56-7 E' 5 5 N - 3
6 E M) 9£-8 4 a8.2 . £ \ =2 3 | |€5
> = o pl L ———F = /3 77 5o - |13 |8 |28
55 ! S \_E 9%2 3 , & = ; 9 / g : S Fa
R & 207" = = 9 Calice) = m o [e)
K B 37 8 -4z 5 8 J & 3| 2| &8
22/ . =, © 5 g 5 5 B W ~Clea| W
5 NN\ 2 | = E & a6 — 0N 9| S Sz
Bp ' {,oéw' 9 ﬂ%g NN eV S % £ 46 7 22%749 = % mg =7
o 3 N s h ’ 547 49 o> 25| §2
1 N 9 5 (@] - < >
62 © 5 X ng O o tna': o5 T
o2 N 57/ 3 049428500542/ S o L2858 Es S
p N 858 m? R 69 | = _.| O =
0 \@ 551 0 59/15 > /§ 225461/ 1 25 : :E :_‘-’ t‘-— _ 3
o S ] - = = c -— Z5 e
% 56 v ﬂg/} ) 7 J 8 S 558/2 & . Blll R I $ QE) Bl 28 =3 S
257 ' Y ' iz R | S| g6 )( STIES| g1 2
s % : Y b »” 53| 5% £2 3
¢ ! ‘ — x = g o
ff‘z A / Qr, \69 2/\\? N 5 8 S U\E—D °
mj 4 & — 5 a3 S - z W
3N 5\, R 5 e 55 € S
69 8 (=] © 2 o
fkd 2 > N n I{=] € I
(0‘,520 . SN Y &% L =
5.8 p 520 s = 2° o ;
4 N N = w
= [0
- A 5 a
N < @
: = % g
- é B
— = a S 2
=2

...\1120_kwiatowa\org_doc\syt.dgn 2018-06-20 11:51:46




